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is the number of significant figures in the number 0.0004020?
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same time hlt the ground at the same moment
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A feather falling in a straight line with a constant speed. C
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When a man fires a gun, the qun recoils. G
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When the force acting on arn object is doubled its acceleration is



g=-9.8 my/
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Can't be determined without solving the equation
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Linear relationship

Inverse relationship
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All balls have the same acceleration
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g=-9.8 m/s’
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Motion with a constant positive acceleration
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Motion with zero acceleration
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Motion with zero velocity
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Free fall Acceleration
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Centripetal Acceleration
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Average Acceleration
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g =-9.8 m/s’
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250 x103 m
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